4% 2R EF REF AT SHFF-FE 3 Y
ISU&Z % < F-15002 ¢

¥ 1 ISU= & § 3 % 1500M B
# ZRank T 52No. i# <+ Name S Time J° #.Penalty # 3xNote
1 83 BRI 024 314,27
2 84 M 024 314,28
3 7 ¥ =t di 024 31435
¥ 2 ISU= # 4 3 % 1500M B
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
1 85 LR 3~ 014541
2 87 Rz 3401464
3 86 & 58 ¥ 3~ 01466
Fx 3 IS+ #9 3+ Ak 1500M B
# ZRank 4 5No. i < Name S S Time J° #.Penal ty # xNote
1 80 1% 3 2534529
2 79 R 24544533
3 78 O 2/ 564,69
F=x 4 ISUF #+3F A% 1500M 4
# zRank g %No. i < Name P S Time ¥ #.Penalty # zxNote
1 82 BR AL 34 064,63
2 81 IR 3~ 194538
H#=x b IS+ # 3 + B 1500M 4
# ZRank ™ %.No. % < Name 2 pFE = FTime J® #.Penal ty # :xNote
1 69 TEE 24464515
2 70 M 2/~ 464,29
3 71 ¥ 5k 2/ 524577
4 68 WP 3401493
H=x 6 ISU# #+3+ B 1500M -F
# ZRank ™ %.No. % < Name 2 pFE 2 FTime J® #.Penal ty # :xNote
1 76 ¥ ¥ 2% 364563
2 73 R % 25424515
3 72 29 2% 444559
4 74 + 8 2~ 44%;86
5 75 LN 3408409



4% 2 ReF HREF AT SHEF-FEL 5
ISUZ& & + F-15002 <

F=x T-1 IS #8 + Cl 1500M R
# ZRank ™ %.No. i% < Name S ETime J° #.Penal ty # zxNote
57 e 24 4545317 Q
59 asic 2/ 454559 a
54 TR 34 054554
61 PR [ 34 054562
= T-2 IS+ #9 + Cle 1500M iR
# ZRank 4 %No. i < Name S S Time J° #.Penalty # xNote
63 F| re ik 2% 324594 Q
65 SR 24~ 334514 a
58 Fﬁiﬁﬁt 24 34%573
56 L E 24 53%;71
F=x T-3 IS+ £33+ Ck 1500M ¥
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
60 e @ 9. 47401 Q
62 kA 24 51#545
64 5 % A 24 58513
= 20 ISU+ # § 3 Ck 1500M 4
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 57 TR 94 314596
2 65 A 2% 324594
3 63 ) F i 2% 334504
4 59 Hakic 2~ 37#509
) 60 A 25424597
HF=x 8 ISU+ #+ 3 Cl 1500M -F
# ZRank ™ %.No. % < Name 2 FTime J® #.Penal ty # :xNote
1 66 & =231 24504525
2 67 aHF 2~ 514543
ISU % * F-10002 <
HF=x 33 ISU= & § 3 % 1000M -
2t 2 Rank " ENo. % < Name pFE S FTime ¥ #.Penal ty % :xNote
1 84 L 1~ 334542
2 77 i = de 14344515
3 83 PRI 14 36%)32



A

114% > REF REF A G SHRF-FE 54
¥ 34 ISU= & & 3 % 1000M B
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
1 85 &8 (o 1453494
2 87 Iz 14 55%;66
86 & 58 ¥ 14554560 DQ
= 3b ISUF# # 7 3 Ak 1000M B
# ZRank 4 5No. i < Name S S Time J° #.Penal ty # xNote
1 80 Bl +5 1~ 404533
9 79 i % 14 40442
3 78 T 14404599
= 36 ISUF &4 3 A% 1000M B
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
1 82 LA 14~ 544,74
2 81 IR 24 024577
F=x 37 ISU+ # § 3Bk 1000M 4
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 70 M3 1~ 44%;71
2 69 pRREE 14 44%;85
3 68 M3 45 14 464558
4 ! TS 14 504,04
H#=x 38 ISU+ # -+ 3Bk 1000M 4
# ZRank ™ %.No. % < Name pF 2 FTime J° #.Penal ty # zxNote
1 76 ¥ ¥ 14494510
2 72 2 % 1452425
3 73 R T 1452460
4 74 R 14 524,86
5 75 AT 14564557
= 32-1 ISU+ # § 3 C2(3:142) 1000M I F
# ZRank ™ %.No. % < Name 2 FTime J® #.Penal ty # :xNote
57 W F 14414509 Q
63 ) F i 14414538 a
60 @ 14 44491
54 i & 14464590



4% 2R e REF AT SHEF-FET2H

¥=x 32-2 ISUF & 7 3 Ce(3:142) 1000M iR
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
65 B 14 424576 Q
64 & & A 14424587 aq
58 PR3 14 43%,64 DQ
59 asic 14 434,67
= 32-3 ISUF # 7 3 Ce(3:14+2) 1000M iR
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
62 3k 1453478 Q
56 LA E 1~ 544583
61 U 2 154769 DQ
= 39 ISU# # 7 3Cle 1000M B
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
1 57 i 2 1438433
2 63 kS zd 7t 1~ 404,84
3 65 F i 14 42%502
4 64 5 & A 1> 46458
5 62 5 ki 14 474593
= 40 ISU+ &+ 3 Cl 1000M 4
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 66 Ege A 14514504
2 67 paiE I 14 52%502
= 31-1 ISU+ # § 3D (2:241) 1000M I F
# ZRank ™ %.No. % < Name 2 pFE = FTime J® #.Penal ty # :xNote
46 Lo 14 53%;30 Q
50 EY LR 14534537 Q
48 HRIEp 14 53%;45
= 31-2 ISU+ # § 3D (2:241) 1000M I F
# ZRank ™ %.No. % < Name 2 FTime J® #.Penal ty # :xNote
47 R4 14504510 Q
45 i # 4 14 50%;16 Q
49 1% 12504532 q



4% 2R e REF AT SHEF-FET2H

F=x 41 ISU# # % 3D 1000M B
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
1 45 iF & 4 14524519
2 47 LUSHEY A 14 52%550
3 49 3 F 14 52464
4 46 IR Ak 14554533
) 50 By LE=2 1~ 554545
6 48 RiEfs 1~ 534545 7 % T
= 42 ISUF #4 3Dk 1000M B
# ZRank 4 %No. i < Name S S Time J° #.Penalty # xNote
1 bl VARR 14 57#;68
2 52 SR 14574579
3 53 25 24 0§42
ISUk B 4 -TTT2
= 48-1 ISU+ # § 3 D& (2:2+1) 7'M ¥
# tRank  #%No. i < Name pEa 5 Time  J°*RPenalty # xNote
45 i 4 1225478 Q
47 LUSHEY A 1~ 25%581 Q
50 3 i 14304530
= 48-2 ISU+ # § 3 D& (2:241) 7'M ¥
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
49 I G = 14244553 Q
46 P i Ak 14> 244,98 Q
48 HRIEp 14254506 a
= 50 ISU+ # 9 3 D& 7™ -F
# ZRank ™ %.No. % < Name = FTime J® #.Penal ty # :xNote
1 45 i % 45 14254501
2 47 LUPLRY: - 14254518
3 49 3% m 14 254532
4 46 Lo 14254591
5 48 HRIEp 14 33432
6 50 EY LR 14304530 S
= 51 ISU§ £+ 3Dl 7'M -
# ZRank M ENo. % £ Name pF s B Time J@ #L.Penal ty % :xNote
1 51 VR 14254570
2 52 HF ORI 14 25%589
3 53 A F 14314500



4% 2 AEFIEF ks FHRF-FE 55

¥ 43 ISU#+ & ¥ 3E% TTT™ o R
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
1 43 * R A 14274546
2 41 i 14304519
3 42 F v ¥ 14314582
ISU% % < F-5002
F=x 11 ISUS # § 3 % 500M B
£ ZRank  tH%.No. i < Name P ETine  °RPenalty % 3xNote
1 84 M H 434512
2 7 g =iasE 4445712
3 83 R ) 444592
F=x 12 ISU= # 4 3 % 500M B
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
1 85 4 474591
2 87 Iz 48%557
3 86 % 3 b 494526
F=x 13 ISU+ # § 3 A% 500M 4
# ZRank ™ %No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 80 Bl +5 464500
2 79 i oF g 464,65
3 8 T 464,86
HF=x 14 ISUF #+% 3 A% 500M -F
# ZRank ™ %.No. % < Name 2 pFE = FTime J® #.Penal ty # :xNote
1 82 R e 564513
2 81 IR 584730
= 15 ISU+ # § 3Bk 500M -F
# ZRank ™ %.No. % < Name 2 FTime J® #.Penal ty # :xNote
1 69 TR 48%;04
2 70 M 48%61
3 68 M P 4 504556
4 7 E5R 50472



4% 2R e REF AT SHEF-FET2H

= 16 ISUF &+ 3Bk 500M B
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
1 76 $rE 494742
2 74 v B 52%;24
3 73 Rk Iﬁj 53%,16
4 72 Z 9 53%/23
5 75 C 54423
= 17-1 ISU# # 7 3Cle 500M iR
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
58 FBL T 504511 Q
60 A 50F,25
62 ki 534579
56 L E 54%52
= 17-2 ISU# # 7 3Cle 500M iR
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
57 TR 484555 Q
64 3 & A 494599 a
54 I & 51#529
59 A 51#543
= 17-3 ISU+ # § 3 Ck 500M ¥
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
63 gdhzd 494559 Q
65 o 50504
61 FUAT 564702
F=x 30 ISU # % +Cle 500M B
# ZRank M HNo. % + Name PpE S ETime J® #.Penal ty # xNote
1 57 i F 464,89
2 64 & & A 49%563
3 58 PR3 494,64
4 63 gdpad 14 144596
= 18 ISUF &#4+3Cle 500M B
#t ZRank 8 FNo. i# <+ Name P ES ETime J° #.Penalty # xNote
| 67 et 55,38
2 66 & =73 14014578



A

114% 2 R g ks FHFF-FF 5 4
% 9-1 ISU# & 9 3D 500M R
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
45 i F 4 53%539 Q
49 3 F W 53,72 Q
47 BR 4L 534,73
= 9-2 ISU# # % 3Dk 500M iR
# ZRank 4 5No. i < Name S S Time J° #.Penal ty # xNote
46 2 ik 554531 Q
50 B LR 55,66 Q
48 RiEfs SHY JHb)
= 19 ISU# # % 3Dk 500M B
# ZRank 4 5No. i < Name S S Time J° #.Penalty # xNote
1 45 i % 45 514526
2 49 1% 5 554519
3 46 A 56438
4 50 ER e 564)55
= 10 ISU+ #-+ 3D 500M 4
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 bl ARR 564,49
2 52 HFRIE 564,62
3 53 285 1~ 0%;70
=z 21 ISU+ # § 3 E& 500M 4
# ZRank ™ %.No. % < Name 2 FTime J® #.Penal ty # :xNote
1 43 = 52%,66
2 41 i 53%591
3 42 £ v B 564,22
ISU s « F-3332 <
= 49 ISU+ # 9§ 3 E& 333M -F
# ZRank ™ %.No. % < Name 2 pFE 2 FTime J® #.Penal ty # :xNote
1 43 * R B 37%524
2 42 £ v ¥ 38%,43
3 41 i 384559



4% 2R e REF AT SHEF-FET2H

&£ iR A F-10002 ¢

¥=x 44 B AEAETIELYE 1000M s

# ZRank M ENo. S ETime J® #.Penal ty # zxNote
1 38 24054549
2 37 24 514742

¥ 45 P AHhAELITFLS 1000M R

# tRank " No. P2 HTime  J°*RPenalty # :xNote
1 40 24 094,83
2 39 24 094,87

=t 46 1000M P ER

# ZRank 4 5No. S S Time J° #.Penalty # xNote
1 33 24 174765
2 34 24 214740
3 30 34014507
4 31 34024599
5 32 34 084558

HF=x 47 e L35+ 1000M R

# tRank 5 5No. a2 g Time  J5°#Penalty # zxNote
1 35 24 314519
2 36 24 394595

FE A F-500= ¢

¥=x 22 BPAEBAETIFELE 500M TEE

# tRank  *h5iNo. P gTime  J°*RPenalty # :xNote
1 38 594,56
2 37 1 044746

= 23 B ABAELIFEY 500M PER

# ZRank ™ %No. 2 FTime J® #.Penal ty # :xNote
1 40 14004502
2 39 14004508

¥ 24-1 Y §3E+ 8 500M PR

2t 2 Rank " ENo. : pFE S FTime ¥ #.Penal ty % :xNote
1 33 14 034,66
2 31 14 184534
3 30 14 24%;38



4% 2R e REF AT SHEF-FET2H

HF=x 24-2 ReY 3358 500M PTEE
# tRank " No. i + Name PR gTime  J°2RPenalty #% :xNote
1 34 PR3 1410485
2 32 By 14274540
F=x_ 20 Re +3+FE+ 500M PTEE
# tRank " No. i + Name P2 HTime  J°*RPenalty # :xNote
| 35 §22 14097586
2 36 B EE 14 174500
F=x 26-1 A l3EsyFELe 500M PR
# ZRank 4 5No. i < Name S % Time J° #.Penal ty # xNote
1 19 i 10 48 524540
2 20 ety 574556
3 24 [E 14 087,28
4 22 iz 1415465
= 26-2 Al 3EsyF+ELe 500M R
# tRank " HNo. i + Name PR g Time  J° *APenalty #% 3xNote
1 95 BT 14 04,86
2 21 e 14 194557
3 23 SX Y 14194564
#=x 27 A lREsrbtIgde 500M R
# Rank 5o, i + Name P2 HTime  J°*RPenalty # 3xNote
1 28 [l 1404599
2 27 P EIE 14014520
3 26 R AL 142074543
29 S
HF=x 28-1 R P EERTFFLS 500M FREE
# “Rank  t5%iNo. i £ Name PR % Time  J° “RPenalty # wxNote
| 9 £ 4 1404589
2 8 wE 14 07482
3 13 LY=ET 14 07486
4 11 BRE 2 14 144548
= 28-2 R ¢ EsyFES, 500M R
# LRank  h5iNo. i# £ Name P gTine  J°2RPenalty # 3xNote
1 14 FRip B 14 044550
2 10 1 EH 1411403
3 12 1548 15184578

10 7% 13F



1145 > Mo S frk s $HHF-FE 39

¥=x 29 B P reabtIgEgLe 500M B
# ZRank ™ %.No. i% < Name S ETime J #.Penal ty # zxNote
1 15 S 57425
2 17 3 R 1407476
3 16 FIprég 14104582
4 18 ® AT 14 164,84
FLpp A F-3332 ¢
= b4 B P ray FELE 333M PR
# tRank " No. i + Name P gTime  J°RPenalty # :xNote
1 9 £ 4 404570
) 14 # B 434560
3 13 P 15 444738
4 8 wE R 464559
5 10 1 ER 464575
6 12 ERrpe 50428
7 11 #oE % 50414
= bHb ¢ EabIFELE 333M R
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 15 e S 4 394502
2 17 3 444745
3 16 1 pi 4% 454;83
4 18 § #rid 55432
=2 b6 B BE5TFELE 333M TEE
# “Rank  #h%LNo. i# £ Name P gTine  J° R Penalty # :xNote
1 19 i 3048 354,37
2 24 M 38%/35
3 20 S R 38%,45
4 25 R 404518
g 22 A F 18462
6 23 3k 5047505
7 21 FEeak 50489
¥=x 57 JREESXFIELE 333M R
2t 2 Rank T ”%iNo. % < Name pFE S FTime ¥ #.Penal ty % :xNote
1 28 5+ 41413
2 26 R AR 45%;26
3 217 MR 504594

29 TEgrS

» 11 F % 13F



114% > REF HEF ARG SHFF-FF 55
F LA F-2222 <

¥=x 52 | AE%sy FFELE 222M PEE
# ZRank ™ %.No. i% < Name S ETime J° #.Penal ty # zxNote
1 4 R 304571
2 3 M 31#,81
3 2 3 220 354523
4 1 EETI 354/35
5 6 A2 35447
6 5 &g 464599
¥ 53 F | MEBSIFIEEE 299M e .
# ZRank 4 5No. i < Name S S Time ¥ #.Penal ty # xNote
1 7 FI P4 36475
.7-5_29 'ﬁ'{% 111;\{
#¥=x 58 Al | ResyFEL e 111IM g .
# ZRank ™ %.No. % < Name 2 pF 2 FTime J° #.Penal ty # zxNote
1 3 M7 A 174527
2 4 %R 174540
3 2 %228 18425
4 1 EETIE 184,48
5 6 B 184,76
6 5 4 284730
H-=x b9 B/l AERLIELE 111M TEE
# ZRank ™ %.No. % < Name 2 pFE = FTime J® #.Penal ty # :xNote
1 7 Bl pr e 194575
RS R
3-=x 60 B 7+ BrpdEd 2000M TEE
# %Rank I . Team A $Time  5°4Penalty % zxNote
1 COLOR 34 334,98
2 bl B 3~ 344534
3 AHE B 34494578
4 U LT B PR 44 044569
5 S B IR 4% 364549
6 FY® F3 54 104,44

12 7% 13 F



114 » REE ik

FrEZHREF-FF-F

=61 B+ B 2000M PTEE

£ ZRank I iLTeam S HTime J° #.Penal ty % zxNote
1 COLOR 34 4767
2 fAELR A0V 4% 204564

3= 62 R § 3+ Wk 3000M PTEE

# zRank Fy i.Team S S Time J° #.Penal ty # xNote
1 SR 44 494574
2 AL 44504534
3 2 B 54 35731
4 COLOR o4& 4'1F; 34

=63 B ARALE T MRS 5000M PR

# ZRank Fy . Team S S Time J° #.Penalty # xNote
1 w155 T4 574788
2 2 B 84 46553

= 64 B ARALEL T WA 3000M R

2t 2 Rank 5 iZ.Team A % Tine J® #.Penal ty # zxNote
1 fELR A0 54 347,86

137 % 13F



